

Article

Recurrence Formulas for Choulet Sequences

Artūras Dubickas 

Institute of Mathematics, Faculty of Mathematics and Informatics, Vilnius University, Naugarduko 24,
LT-03225 Vilnius, Lithuania; arturas.dubickas@mif.vu.lt

Abstract

In this paper, we consider the so-called Choulet sequence a_n , $n = 0, 1, 2, 3, \dots$. For any complex numbers a_0, a_1, k, l , it is defined by the formula $a_{n+1} = \sum_{j=0}^n a_j a_{n-j} + k(n+1) + l$ for $n = 1, 2, 3, \dots$. We derive the recurrence formula of the form $(n+1)a_n + \sum_{j=1}^5 (u_j + nv_j)a_{n-j} = 0$ for $n \geq 5$, where u_j, v_j , $j = 1, \dots, 5$, are some constants that depend on a_0, a_1, k, l , but not on n . In the case when $k = 0$, we obtain a shorter recurrence formula $(n+1)a_n + \sum_{j=1}^4 (u_j + nv_j)a_{n-j} = 0$ for $n \geq 4$. Both these formulas correspond to the recurrence formulas presented in the OEIS (The On-Line Encyclopedia of Integer Sequences) for many initial vectors $(a_0, a_1, k, l) \in \mathbb{Z}^4$. Most of them are listed as conjectures. So here we verify all of them using the same procedure by just inserting the values of a_0, a_1, k, l into the derived formulas. We also show that the Choulet sequence is a linear recurrence sequence if and only if $(k, l) = (-a_1^2, 2a_1^2 + a_1 - 2a_0a_1)$.

Keywords: Choulet sequence; generating function; recurrence formulas

MSC: 11B37

1. Introduction

Consider the sequence of complex numbers a_n , $n = 0, 1, 2, 3, \dots$, defined by

$$a_{n+1} = \sum_{j=0}^n a_j a_{n-j} + k(n+1) + l, \quad n = 1, 2, 3, \dots, \quad (1)$$

where a_0, a_1, k, l are some fixed complex numbers. For various small $a_0, a_1, k, l \in \mathbb{Z}$ these sequences were introduced by Richard Choulet in [1]: see, for instance, the following entries: A176604–A176607, A176609–A176612, A176645, A176648, A176675, A176677, A176678, A176749–A176757, A176759, A176826, A177111, A177113, A177115, A177117, A177118, A177127–A177131, A177168–A177172.

As is usual for the entries in [1], a combinatorial, a number theoretic or another mathematical context of each such sequence is explained. In all the cases mentioned above, a recurrence formula of the form

$$(n+1)a_n + \sum_{j=1}^d (u_j + nv_j)a_{n-j} = 0, \quad (2)$$



Academic Editor: Artem A. Lopatin

Received: 19 May 2026

Revised: 11 June 2026

Accepted: 16 June 2026

Published: 17 June 2026

Copyright: © 2026 by the author.

Licensee MDPI, Basel, Switzerland.

This article is an open access article

distributed under the terms and

conditions of the [Creative Commons](#)

[Attribution \(CC BY\)](#) license.

$n = d, d + 1, d + 2, \dots$, with some explicit u_j, v_j is provided in the respective entry for either $d = 4$ or $d = 5$ as a conjecture. Note that in the case when $a_0 = a_1 = 1$ and $k = l = 0$ the sequence (1) is the Catalan sequence $C_0 = C_1 = 1$,

$$C_{n+1} = \sum_{j=0}^n C_j C_{n-j}, \quad n = 1, 2, 3, \dots, \quad (3)$$

which itself is the sequence A000108 in [1]. A wide range of combinatorial interpretations of Catalan numbers is described in Stanley's monograph [2]. It seems that Catalan numbers first appeared in 18th century [3]. See also [4,5] and some very recent papers [6–9]. It is well known that

$$C_n = \frac{1}{n+1} \binom{2n}{n} \quad (4)$$

and so the recurrence relation

$$(n+1)C_n + (2-4n)C_{n-1} = 0 \quad (5)$$

holds for each $n \geq 1$. On the other hand, in [10], it was shown that $C_n, n = 0, 1, 2, 3, \dots$, does not satisfy a linear recurrence sequence (the one with constant coefficients; see (10) below). Note that (5) is also of the form (2) with $d = 1$.

Very recently, in [11], Niu considered the sequence (1) with $(a_0, a_1, k, l) = (1, 1, 0, -1)$ and proved for it the recurrence formula

$$(n+1)a_n + (2-6n)a_{n-1} + (9n-13)a_{n-2} - 4a_{n-3} + (16-4n)a_{n-4} = 0$$

for each $n \geq 4$ as it was conjectured in A176677 of [1]. (This formula is of the form (2) with $d = 4$.) The proof in [11] involves some nontrivial calculations and computational verification with the Python standard library plus SymPy 1.14. The aim of our note is to prove this result for any sequence (1) (with arbitrary choice of a_0, a_1, k, l) and do it without any computer assistance. Using this, we will establish all the formulas exactly as they are conjectured in the above mentioned entries of [1].

In order to derive (2) for the sequence (1) with arbitrary $a_0, a_1, k, l \in \mathbb{C}$, we set

$$Q(z) = (1-z)^2 - 4a_0z(1-z)^2 - 4(a_1 - a_0^2)z^2(1-z)^2 - 4kz^3 - 4(k+l)z^3(1-z) \quad (6)$$

and show the following:

Theorem 1. *There is a positive number $\delta = \delta(a_0, a_1, k, l)$ such that the generating function $G(z) = \sum_{j=0}^{\infty} a_j z^j$ of the sequence (1) is analytic in the disc $|z| < \delta$ and for each such z satisfies*

$$q_0(z)G'(z) + q_1(z)G(z) = q_2(z), \quad (7)$$

where $q_0(z) = z(1-z)Q(z)$,

$$q_1(z) = (1-2z)Q(z) - \frac{z(1-z)Q'(z)}{2}, \quad (8)$$

$$q_2(z) = \frac{Q'(z)(z-1) - 2Q(z)}{4}, \quad (9)$$

and where Q is defined in (6).

In the next section, we will prove Theorem 1. Using it, in Section 3, we will derive the formula (2) with $d = 5$ for any sequence (1) (see Theorem 3). In Section 4, assuming that

$k = 0$, we will derive the recurrence (2) with $d = 4$ (see Theorem 4). Finally, in Section 5 we will show that the Choulet sequence is not a linear recurrence sequence except for one explicitly described case. Recall that a sequence s_n , $n = 0, 1, 2, 3, \dots$, is a *linear recurrence sequence* if for some $d \in \mathbb{N}$ and some constants $b_1, \dots, b_d$ we have

$$s_n = b_1 s_{n-1} + \dots + b_d s_{n-d} \quad (10)$$

for $n = d, d+1, d+2, \dots$. In Section 5, we will show that

Theorem 2. *The sequence (1) is not a linear recurrence sequence except for the case when $(k, l) = (-a_1^2, 2a_1^2 + a_1 - 2a_0a_1)$. Then the sequence (1) is $a_0, a_1, a_1, a_1, \dots$.*

Note that $a_0, a_1, a_1, a_1, \dots$ is indeed a linear recurrence sequence because of the relation (10), where $s_n = a_n$, $n = 0, 1, 2, 3, \dots$, holds for $d = 2$ and $(b_1, b_2) = (1, 0)$.

2. Proof of Theorem 1

We will first establish the following lemma.

Lemma 1. *For the sequence a_n , $n = 0, 1, 2, 3, \dots$, defined in (1) there is a positive constant $\rho = \rho(a_0, a_1, k, l)$ such that $|a_n| < \rho^n$ for each $n = 1, 2, 3, \dots$.*

Proof. Take

$$\rho > \max\{2, 2(|k| + |l|), |a_0|, |a_1|, \sqrt{|a_0a_1| + |k| + |l|}\}. \quad (11)$$

Note that (11) implies

$$|k|(n+1) + |l| \leq (|k| + |l|)(n+1) < \frac{\rho(n+1)}{2} \leq \rho 2^{n-1} < \rho^n \quad (12)$$

for $n \geq 1$. We claim that

$$|a_{n+1}| < C_{n+1} \rho^{n+1} \quad (13)$$

for each $n \geq 0$. Since $C_n = \frac{1}{n+1} \binom{2n}{n} < \binom{2n}{n} < 4^n$ for $n \geq 1$ (see (4)), this will complete the proof of the lemma with the constant 4ρ .

The proof of (13) is by induction on n . Since, by (11), $|a_1| < \rho = C_1\rho$ and

$$|a_2| = |2a_0a_1 + 2k + l| \leq 2|a_0a_1| + 2|k| + 2|l| < 2\rho^2 = C_2\rho^2,$$

the inequality (13) holds for $n = 0$ and $n = 1$. Fix $n \geq 2$. Assume that the inequality $|a_j| < C_j\rho^j$ holds for $j = 1, 2, \dots, n$. We will show that it then holds for $j = n+1$ as well, which will complete the proof of (13). Note that, by (1),

$$a_{n+1} = 2a_0a_n + \sum_{j=1}^{n-1} a_j a_{n-j} + k(n+1) + l.$$

Here, $2|a_0a_n| < 2\rho C_n\rho^n = 2C_n\rho^{n+1}$ by (11) and the induction assumption. Hence, by (3), (11), (12) and $|a_j a_{n-j}| < C_j C_{n-j} \rho^j \rho^{n-j} = C_j C_{n-j} \rho^n$, we deduce

$$\begin{aligned} |a_{n+1}| &< 2C_n\rho^{n+1} + \rho^n \sum_{j=1}^{n-1} C_j C_{n-j} + |k|(n+1) + |l| \\ &= 2C_n\rho^{n+1} + (C_{n+1} - 2C_n)\rho^n + |k|(n+1) + |l| \\ &< 2C_n\rho^{n+1} + (C_{n+1} - 2C_n)\rho^n + \rho^n = 2C_n\rho^{n+1} + (C_{n+1} - 2C_n + 1)\rho^n. \end{aligned}$$

Using $C_{n+1} - 2C_n \geq 1$ for $n \geq 2$, we see that this is less than $C_{n+1}\rho^{n+1}$ because

$$(C_{n+1} - 2C_n)\rho > 2(C_{n+1} - 2C_n) \geq C_{n+1} - 2C_n + 1,$$

which completes the proof of (13). $\square$

We can now prove Theorem 1. By Lemma 1, the generating function $G(z)$ of (1) is absolutely convergent in the open disc $|z| < \rho^{-1}$. In particular, the function $G(z)$ is analytic in $|z| < \rho^{-1}$. Using (1) we immediately get

$$G(z) - a_0 - a_1z = \sum_{n=1}^{\infty} a_{n+1}z^{n+1} = \sum_{n=1}^{\infty} \sum_{j=0}^n a_j a_{n-j} z^{n+1} + \sum_{n=1}^{\infty} (k(n+1) + l)z^{n+1}.$$

Here,

$$\sum_{n=1}^{\infty} \sum_{j=0}^n a_j a_{n-j} z^{n+1} = z \left(-a_0^2 + \sum_{n=0}^{\infty} \sum_{j=0}^n a_j z^j a_{n-j} z^{n-j} \right) = -a_0^2 z + z \left(\sum_{j=0}^{\infty} a_j z^j \right)^2 = zG(z)^2 - a_0^2 z$$

and

$$\sum_{n=1}^{\infty} (k(n+1) + l)z^{n+1} = kz^2 \sum_{n=1}^{\infty} nz^{n-1} + (k+l)z^2 \sum_{n=1}^{\infty} z^{n-1} = \frac{kz^2}{(1-z)^2} + \frac{(k+l)z^2}{1-z}.$$

Hence,

$$G(z) - a_0 - a_1z = zG(z)^2 - a_0^2 z + \frac{kz^2}{(1-z)^2} + \frac{(k+l)z^2}{1-z},$$

which yields

$$zG(z)^2 - G(z) = -a_0 - (a_1 - a_0^2)z - \frac{kz^2}{(1-z)^2} - \frac{(k+l)z^2}{1-z}.$$

In view of (6), we can rewrite the last equality as

$$zG(z)^2 - G(z) = \frac{Q(z) - (1-z)^2}{4z(1-z)^2} = \frac{Q(z)}{4z(1-z)^2} - \frac{1}{4z}.$$

Thus,

$$4z^2G(z)^2 - 4zG(z) + 1 = \frac{Q(z)}{(1-z)^2}.$$

The left-hand side of the above equality equals $(2zG(z) - 1)^2$. So multiplying both sides by $(1-z)^2$, we obtain

$$(2z(1-z)G(z) - 1 + z)^2 = Q(z). \quad (14)$$

Recall that the function $G(z)$ is analytic in the open disc $|z| < \rho^{-1}$. Take a positive number $\delta \leq \rho^{-1}$ for which the polynomial Q is not vanishing in $|z| < \delta$. (Such δ exists due to $Q(0) = 1 \neq 0$.) Taking the derivatives of both sides of (14) and dividing the resulting equality by (14), we get

$$\frac{2(2z(1-z)G'(z) + (2-4z)G(z) + 1)}{2z(1-z)G(z) - 1 + z} = \frac{Q'(z)}{Q(z)}$$

for any complex z satisfying $|z| < \delta$, and hence,

$$4z(1-z)Q(z)G'(z) + ((4-8z)Q(z) - 2z(1-z)Q'(z))G(z) = Q'(z)(z-1) - 2Q(z).$$

Dividing by 4, we complete the proof of the theorem.

3. General Case

By the definition of Q in (6) and $q_0(z) = z(1 - z)Q(z)$, we find that

$$q_0(z) = z + c_2z^2 + c_3z^3 + c_4z^4 + c_5z^5 + c_6z^6, \quad (15)$$

with

$$\begin{cases} c_2 &= -4a_0 - 3, \\ c_3 &= 4a_0^2 + 12a_0 - 4a_1 + 3, \\ c_4 &= -12a_0(a_0 + 1) + 12a_1 - 8k - 4l - 1, \\ c_5 &= 12a_0^2 + 4a_0 - 12a_1 + 12k + 8l, \\ c_6 &= -4a_0^2 + 4a_1 - 4k - 4l. \end{cases} \quad (16)$$

Likewise, by (6) and (8), we deduce

$$q_1(z) = 1 - (3 + 2a_0)z + 3(1 + 2a_0)z^2 - (1 + 6a_0 - 4k - 2l)z^3 + 2(a_0 - l)z^4.$$

Thus,

$$q_1(z) = 1 + b_1z + b_2z^2 + b_3z^3 + b_4z^4, \quad (17)$$

with

$$(b_1, b_2, b_3, b_4) = (-2a_0 - 3, 6a_0 + 3, -6a_0 - 1 + 4k + 2l, 2a_0 - 2l). \quad (18)$$

The polynomial q_2 in (9) is of degree at most 4, since so is Q . Fix $n \geq 5$ and consider the coefficient for z^n in

$$q_0(z)G'(z) = (z + c_2z^2 + \cdots + c_6z^6) \sum_{j=1}^{\infty} ja_jz^{j-1}.$$

Clearly, it is equal to

$$na_n + c_2(n-1)a_{n-1} + \cdots + c_6(n-5)a_{n-5}.$$

The coefficient for z^n in $q_1(z)G(z) = q_1(z) \sum_{j=0}^{\infty} a_jz^j$ equals

$$a_n + b_1a_{n-1} + \cdots + b_4a_{n-4}.$$

Since the coefficient for z^n , $n \geq 5$, on the right hand side of (7) vanishes, we derive that

$$(n+1)a_n + \sum_{j=1}^4 (b_j + c_{j+1}(n-j))a_{n-j} + c_6(n-5)a_{n-5} = 0, \quad (19)$$

where $c_2, c_3, c_4, c_5, c_6, b_1, b_2, b_3, b_4$ are given in (16) and (18). Note that they depend on a_0, a_1, k, l but not on n .

In the sequence A176610 we have $(a_0, a_1, k, l) = (1, 0, 1, 1)$. So, by (18), we get $(b_1, b_2, b_3, b_4) = (-5, 9, -1, 0)$, while (16) implies

$$(c_2, c_3, c_4, c_5, c_6) = (-7, 19, -37, 36, -12).$$

Inserting these values into (19), we obtain

$$\sum_{j=0}^5 \zeta_{n-j} a_{n-j} = 0 \quad (20)$$

for $n \geq 5$, where $(\zeta_n, \zeta_{n-1}, \zeta_{n-2}, \zeta_{n-3}, \zeta_{n-4}, \zeta_{n-5})$ is equal to

$$(n+1, 2-7n, 19n-29, 110-37n, 36(n-4), 12(5-n)),$$

which is exactly the same as conjectured for that sequence.

In the sequence A176611 we have $(a_0, a_1, k, l) = (1, 1, 1, 1)$. Now, by (18), we get $(b_1, b_2, b_3, b_4) = (-5, 9, -1, 0)$, while (16) implies

$$(c_2, c_3, c_4, c_5, c_6) = (-7, 15, -25, 24, -8).$$

Inserting these values into (19), we obtain (20), where $(\zeta_n, \zeta_{n-1}, \zeta_{n-2}, \zeta_{n-3}, \zeta_{n-4}, \zeta_{n-5})$ is equal to

$$(n+1, 2-7n, 3(5n-7), 74-25n, 24(n-4), 8(5-n)).$$

As above, this is exactly the same formula as it was conjectured for that sequence in [1].

The next sequence A176612 is $(a_0, a_1, k, l) = (1, 2, 1, 1)$. As above, we get the relation (20) with $(\zeta_n, \zeta_{n-1}, \zeta_{n-2}, \zeta_{n-3}, \zeta_{n-4}, \zeta_{n-5})$ equal to

$$(n+1, 2-7n, 11n-13, 38-13n, 12(n-4), 4(5-n)).$$

Again, this is exactly the same formula as it was conjectured for that sequence.

For the sequences A176645, where $(a_0, a_1, k, l) = (1, 4, 1, 1)$, A176648, where $(a_0, a_1, k, l) = (1, 5, 1, 1)$, and A176759, where $(a_0, a_1, k, l) = (1, 0, 1, -1)$, we get the result as claimed in OEIS. Similar sequences A177111, A177113, A177115, A177117, A177118 can be verified in exactly the same way. (Those five are claimed to be verified.) The sequence A176826, with $(a_0, a_1, k, l) = (1, 1, 1, -1)$, gives (20) with

$$(\zeta_n, \zeta_{n-1}, \zeta_{n-2}, \zeta_{n-3}, \zeta_{n-4}, \zeta_{n-5}) = (n+1, 2-7n, 3(5n-7), 46-17n, 4(2n-7), 0).$$

So, the recurrence is

$$(n+1)a_n + (2-7n)a_{n-1} + 3(5n-7)a_{n-2} + (46-17n)a_{n-3} + 4(2n-7)a_{n-4} = 0$$

as claimed in A176826 of [1]. Observe that it does not have the term with a_{n-5} , since

$$c_6 = -4a_0^2 + 4a_1 - 4k - 4l = 0,$$

and that it holds for $n \geq 4$, because the polynomial q_2 in (9) is cubic.

Using (16) and (18), we can write (19) in the following equivalent form:

Theorem 3. For the sequence (1) we have

$$(n+1)a_n + \zeta_{n-1}a_{n-1} + \zeta_{n-2}a_{n-2} + \zeta_{n-3}a_{n-3} + \zeta_{n-4}a_{n-4} + \zeta_{n-5}a_{n-5} = 0 \quad (21)$$

for $n = 5, 6, 7, \dots$, where

$$\begin{cases} \zeta_{n-1} &= -(4a_0 + 3)n + 2a_0, \\ \zeta_{n-2} &= (4a_0^2 + 12a_0 - 4a_1 + 3)n - (8a_0^2 + 18a_0 - 8a_1 + 3), \\ \zeta_{n-3} &= (-12a_0^2 - 12a_0 + 12a_1 - 8k - 4l - 1)n + (36a_0^2 + 30a_0 - 36a_1 + 28k + 14l + 2), \\ \zeta_{n-4} &= (12a_0^2 + 4a_0 - 12a_1 + 12k + 8l)n - (48a_0^2 + 14a_0 - 48a_1 + 48k + 34l), \\ \zeta_{n-5} &= -4(a_0^2 - a_1 + k + l)(n - 5). \end{cases}$$

4. The Case $k = 0$

In the case $k = 0$ we have $Q(1) = 0$, so $Q(z)$ is divisible by $1 - z$, namely,

$$F(z) = \frac{Q(z)}{1-z} = (1-z) - 4z(1-z)a_0 - 4z^2(1-z)(a_1 - a_0^2) - 4lz^3 \in \mathbb{C}[z]. \quad (22)$$

Since $k = 0$, each of the polynomials q_0, q_1, q_2 in Theorem 1 is divisible by $1 - z$. Therefore, we will consider the polynomials $Q_j(z) = q_j(z)/(1-z)$, $j = 0, 1, 2$, for which (7) holds with polynomials Q_j of smaller degree.

In particular, using (6) with $k = 0$, we find that

$$Q_0(z) = \frac{q_0(z)}{1-z} = zQ(z) = z + c_2z^2 + c_3z^3 + c_4z^4 + c_5z^5,$$

with

$$(c_2, c_3, c_4, c_5) = (-4a_0 - 2, 4a_0^2 + 8a_0 - 4a_1 + 1, -8a_0^2 - 4a_0 + 8a_1 - 4l, 4a_0^2 - 4a_1 + 4l).$$

Likewise, from (8) and (22), we get

$$Q_1(z) = \frac{q_1(z)}{1-z} = \frac{(1-2z)Q(z)}{1-z} - \frac{zQ'(z)}{2} = (1-2z)F(z) - \frac{zQ'(z)}{2}.$$

Thus,

$$Q_1(z) = 1 + b_1z + b_2z^2 + b_3z^3,$$

with

$$(b_1, b_2, b_3) = (-2a_0 - 2, 4a_0 + 1, 2l - 2a_0). \quad (23)$$

This time, by (9) and (22),

$$Q_2(z) = \frac{q_2(z)}{1-z} = -\frac{2F(z) + Q'(z)}{4}$$

is of degree at most 3. In fact,

$$Q_2(z) = a_0 + 2(a_1 - a_0^2 - a_0)z + (4a_0^2 + a_0 - 4a_1 + 3l)z^2 + 2(a_1 - a_0^2 - l)z^3. \quad (24)$$

So, from

$$Q_0(z)G'(z) + Q_1(z)G(z) = Q_2(z), \quad (25)$$

it follows that

$$(n+1)a_n + \sum_{j=1}^3 (b_j + c_{j+1}(n-j))a_{n-j} + c_5(n-4)a_{n-4} = 0$$

for each $n \geq 4$. Inserting the values of c_j as above and b_j from (23), we arrive at the following recurrence relation:

Theorem 4. *If a_n , $n = 0, 1, 2, 3, \dots$ is the sequence (1) with $k = 0$, then*

$$\begin{aligned} (n+1)a_n + (-2(2a_0+1)n+2a_0)a_{n-1} \\ + ((4a_0^2+8a_0-4a_1+1)n-(8a_0^2+12a_0-8a_1+1))a_{n-2} \\ + ((-8a_0^2-4a_0+8a_1-4l)n+(24a_0^2+10a_0-24a_1+14l))a_{n-3} \\ + 4(a_0^2-a_1+l)(n-4)a_{n-4} = 0 \end{aligned}$$

for each $n \geq 4$.

Note that the recurrence relation of Theorem 4 proves the corresponding recurrence formulas in A176604–A176607, A176609, A176675, A176677 (the one proved in [11]), A176678, A176749–A176757, A177127–A177131, A177168–A177172.

We remark that in the case of A176675, with $(a_0, a_1, k, l) = (1, 0, 0, -1)$, Theorem 4 implies

$$(n+1)a_n + (2-6n)a_{n-1} + (13n-21)a_{n-2} + 4(5-2n)a_{n-3} = 0 \quad (26)$$

for $n \geq 4$. Here, the last coefficient for a_{n-4} in Theorem 4 is $4(a_0^2 - a_1 + l)(n-4) = 0$. The recurrence (26) also holds for $n = 3$, because the polynomial $Q_2(z) = 1 - 4z + 2z^2$ in (25) (see (24)) is quadratic.

Moreover, if we consider the sequence (1) with $(a_0, a_1, k, l) = (l, l(l+1), 0, l)$, then Theorem 4 yields the recurrence relation

$$(n+1)a_n + 2(l - (2l+1)n)a_{n-1} + (4l+1)(n-1)a_{n-2} = 0$$

for each $n \geq 4$. This time, by (24), we have $Q_2(z) = l$, so the above relation holds for $n = 2$ and $n = 3$ as well.

5. Proof of Theorem 2

From (14), we deduce that $2z(1-z)G(z) - 1 + z$ is equal to $\pm\sqrt{Q(z)}$. By (6), we have $Q(0) = 1$, while $2z(1-z)G(z) - 1 + z$ at $z = 0$ is -1 . So, for some $\delta_0 > 0$, in the open disc $|z| < \delta_0$ we must have

$$2z(1-z)G(z) - 1 + z = -\sqrt{Q(z)}.$$

This implies the next representation for the generating function

$$G(z) = \frac{1-z-\sqrt{Q(z)}}{2z(1-z)} \quad (27)$$

for each $z \neq 0, 1$ satisfying $|z| < \delta_0$.

We claim the following:

Lemma 2. *The polynomial Q defined in (6) is the square of a polynomial if and only if $k = -a_1^2$ and $l = 2a_1^2 + a_1 - 2a_0a_1$.*

Proof. By (6), the coefficients of Q for $1, z, z^2, z^3, z^4$ are

$$1, \quad -2(2a_0+1), \quad 1+8a_0+4a_0^2-4a_1, \quad -4(a_0+2a_0^2-2a_1+2k+l), \quad 4(a_0^2-a_1+k+l),$$

respectively.

Assume that Q is the square of a polynomial, say R . From $Q(z) = R(z)^2$ and $Q(0) = 1$, we find that $R(0) = \pm 1$. Replacing R by $-R$, if necessary, we can assume that $R(0) = 1$. Next, by considering the coefficients for z , we immediately get $R(z) = 1 - (2a_0 + 1)z + \tau z^2$, with some constant τ . Considering the coefficients for z^2 in

$$Q(z) = (1 - (2a_0 + 1)z + \tau z^2)^2,$$

we deduce

$$2\tau + (2a_0 + 1)^2 = 1 + 8a_0 + 4a_0^2 - 4a_1,$$

so $\tau = 2(a_0 - a_1)$. Using this expression for τ and considering the coefficients for z^4 , we find that

$$\tau^2 = 4a_0^2 + 4a_1^2 - 8a_0a_1 = 4a_0^2 - 4a_1 + 4k + 4l,$$

which implies

$$k + l = a_1^2 + a_1 - 2a_0a_1. \quad (28)$$

The coefficients for z^3 show that

$$-2\tau(2a_0 + 1) = -4(a_0 - a_1)(2a_0 + 1) = -4(a_0 + 2a_0^2 - 2a_1 + 2k + l).$$

This is equivalent to

$$2a_0^2 - 2a_0a_1 + a_0 - a_1 = a_0 + 2a_0^2 - 2a_1 + 2k + l,$$

and hence $2k + l = a_1 - 2a_0a_1$. Therefore, combining this equality with (28), we conclude that the only possibility is $k = -a_1^2$ and $l = 2a_1^2 + a_1 - 2a_0a_1$.

Conversely, with those values of k, l , the identity

$$Q(z) = (1 - (2a_0 + 1)z + 2(a_0 - a_1)z^2)^2 \quad (29)$$

holds. This concludes the proof of the lemma. $\square$

We can now finish the proof of Theorem 2. As in [10] (see also Chapter 4 in [12]), we note that a_n , $n = 0, 1, 2, 3, \dots$, is a linear recurrence sequence only if its generating function $G(z) = \sum_{j=0}^{\infty} a_j z^j$ is a rational function, namely, it satisfies $G(z) = U(z)/V(z)$, where U, V are some polynomials. By (27), this is the case only if $\sqrt{Q(z)}$ is a rational function. The latter happens only if the polynomial Q is the square of a polynomial. By Lemma 2, this is never the case, unless $(k, l) = (-a_1^2, 2a_1^2 + a_1 - 2a_0a_1)$. But in that special case, using (29), we derive that

$$\begin{aligned} G(z) &= \frac{1 - z - 1 + (2a_0 + 1)z - 2(a_0 - a_1)z^2}{2z(1 - z)} = \frac{a_0 - a_0z + a_1z}{1 - z} \\ &= a_0 + \frac{a_1z}{1 - z} = a_0 + a_1z + a_1z^2 + a_1z^3 + \dots \end{aligned}$$

Therefore, the sequence (1) is indeed $a_0, a_1, a_1, a_1, \dots$, as claimed.

Funding: This research received no external funding.

Data Availability Statement: The original contributions presented in this study are included in the article. Further inquiries can be directed to the corresponding author.

Conflicts of Interest: The author declares no conflicts of interest.

References

1. The On-Line Encyclopedia of Integer Sequences. Available online: <https://oeis.org/> (accessed on 19 May 2026).
2. Stanley, R.P. *Catalan Numbers*; Cambridge University Press: New York, NY, USA, 2015.
3. Larcombe, P.J. The 18-th century Chinese discovery of the Catalan numbers. *Math. Spectr.* **1999**, *32*, 5–7.
4. Carlitz, L.; Riordan, J. Two element lattice permutation numbers and their q -generalization. *Duke Math. J.* **1964**, *31*, 371–388. [[CrossRef](#)]
5. Förlinger, J.; Hofbauer, J. q -Catalan numbers. *J. Comb. Theory Ser. A* **1985**, *40*, 248–264. [[CrossRef](#)]
6. Qi, F. Some Properties of the Catalan Numbers. *Appl. Anal. Discret. Math.* **2025**, *19*, 176–184. [[CrossRef](#)]
7. Inagaki, R.; Pramatarova, D. On Weighted and Bounded Multidimensional Catalan Numbers. *Enumer. Comb. Appl.* **2026**, *6*, S2R14. [[CrossRef](#)]
8. Beck, M.; Hanada, M.; Hlavacek, M.; Lentfer, J.; Vindas-Meléndez, A.R.; Waddle, K. Polyhedral Geometry of Refined q, t -Catalan Numbers. *J. Comb.* **2026**, *17*, 179–221. [[CrossRef](#)]
9. Zhao, T.; Lin, Z.; Zang, Y. An Identity Relating Catalan Numbers to Tangent Numbers with Arithmetic Applications. *Eur. J. Comb.* **2026**, *132*, 104283. [[CrossRef](#)]
10. Klazar, M.; Horský, R. Are the Catalan Numbers a Linear Recurrence Sequence? *Am. Math. Mon.* **2022**, *129*, 166–171. [[CrossRef](#)]
11. Niu, T. A short proof of Mathar’s 2016 recurrence conjecture for OEIS A176677. *arXiv* **2026**. [[CrossRef](#)]
12. Stanley, R.P. *Enumerative Combinatorics*, 2nd ed.; Cambridge Studies in Advanced Mathematics 49; Cambridge University Press: Cambridge, UK, 2012; Volume 1.

Disclaimer/Publisher’s Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.